OREH-TRAYREH. KR -BERERMA (BHER) 20254E 553658 (2025498 1H ~20254987R)
(S rF IR 35 B E (ARD ERIBREEERW/NEHE SiBiERE] _ G EREIACEINIY
[ ZEE | A JILoT | HEanr o L ARRE| RS A JL AR EIE REEFETEESD ABEB ML BR B IREE % S B R =¥ 73 ARI
R [ sREHR | T8 [#HEH| TY | HEH [ Ty HMEH | TY HMEH | TY HMEH | TY REm | SREHK | =TY
B 4K 22 0.49 282 6.27 76 3.04 5 0.20 40 1.60 190 7.60 B2k | 3802 84.49
£ 1 0.17 45 7.50 9 3.00 - - 1 0.33 15 5.00 £ 311 51.83
mE 6 0.40 122 8.13 12 1.50 1 0.13 12 1.50 72 9.00 aE 1,281 85.40
hE 14 1.17 66 5.50 28 4.00 2 0.29 16 2.29 46 6.57 hE 1,018 84.83
HE 1 0.08 49 4.08 27 3.86 2 0.29 11 1.57 57 8.14 RE 1,192 99.33
_ _ KA RELEDES
= Kig FEO¥R e e Ak T FE LA ANJ)LINF—F MATHEE TR 0k IHEESE . PR S SER
R [ sREHR | TU [ HmEH| TL | wEH [ TY HMEH | Ty MEH | Y MEH | Y DENMIDDIEREEL. REHID
&K 6 0.24 7 0.28 54 2.16 18 0.72 46 1.84 2 0.08 1;) Ig EL%L;? gzﬁiﬂg%&tﬁ;ﬂ A
£ - - - - 3 1.00 2 0.67 1 0.33 - - NRSRAEE £EDIMSRIEB
FE 1 0.13 1 0.13 19 238 4 050 5 0.63 - - (RROBMEADELY)
hE 1 0.14 5 0.71 8 1.14 3 0.43 20 2.86 1 0.14
RE 4 0.57 1 0.14 24 3.43 9 1.29 20 2.86 1 0.14
(ARl 7E == #E#EJ%@ $] & L1
Ei AR NEREER] AnEERER Tl EAYUREH(A)
REr [ REHR | T8 [ HEH| TY - C WRELGL
E£{K - - 33 2.36 . ZBIRIE LI _E D Hhisg
= - - 7 3.50 ERERELL E D
AE - - - -
FE - - 20 5.00
HE — — 6 1.50
[EE#TE '5¢E1=Er : ] _ _
B JEES B B [ B AR 2 RADTSAREE | IFIDOTHR | BEMEEBX(OFYOLR) | AV TLIV Y (ABREE) | #Ranro o resE Anss
R #E%*;ﬂl FERE AR S A E MEH | Ty HMEH | Ty MEH [ Ty HMEH | TY
CEILY - - - — 30 3.33 — — — — 1 0.11 41 456
tE - - - - - - - - - - - - 5 5.00
aE - - - - 6 2.00 - - - - - - 17 5.67
hE - - - - 17 8.50 - - - - 1 0.50 12 6.00
RE - - - - 7 2.33 - - - - - - 7 2.33




